TP n (PCA to beamline)

< d cot(8) >

g
[
o

©
D

0.05]

IR

0

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

tTHo 1000 et=

o DONmKFRIt STeps. - Pri0I000 eraspoioZps
—— DQM~angle_step2__ptlto1000_etaZp0to2p5
—+— DOM a2p0t

—— DOM

10

_pa}ieTglgEGe‘nEmt:O]s'?ggzet pt to%go eta2p0to2p5
- 10
g
= 8
A
= 6
o)
v 4
2
0
-2
-4
-6
-8
g~10
T 4
o
2_
-3
S
= 1
AN
-
e
Q'_ 0
Lo}
\"
!
-2
-3
-4
o o B
T 4 Z
o :
2 :
ol ;
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

2 3
TP n (PCA to beamline)

oI
If... .
N
|
LN
o
i



	Contents
	Page 1


